M4

Vypogitej - ROZEPISUJTEN!!

napt. (-47) + (-83) = - 47 - 83 = -130

(-7)+(3) = (-7)-(-3) =
-17) + (-2) = (-17) - (-2) =
(-321) + (-56) = (-31) - (-56) =
(+7) +(-3) = (+7)-(-3) =
(-7)+ (+3) = (-7) - (+3) =

(-7) + (+3) + (-2) +4 =

7+ (-13) + (-12) +14 =

-8+ (-23) + (+32) +(4) =

(-2) + (-5)+ 10+ (-2) + (-9) =
(-21) + (F117) + 19 + (-17) + 14 =

(7)- (+3) + (-2) - 4 =

7+ (-13) - (-12) +14 =

-8 - (-23) + (+32) (- 4) =

(-2) + (-5) - 10 + (-2) - (-9) =
(-21) - (-17) + 19 - (-17) + 14 =

+ dal mizete procvicovat - pracovni sesit str. 64, 65, 66. (vysledky - feSeni najdete na str. 87)
vyberte to, ¢emu rozumite...



